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Section 8.9

9. Determine whether the following improper integrals
converge or diverge. 11 it converges, find the value
of the integral. IF it diverges, explain why.

) fite volut = tonverdc
2) LS - dver
' ]1 P e value = dVerge
- X o v odx
[ axe L5 .
La®
v X
\ e b
- i )“‘x \\
= e
[=2)
- L{TN (8‘&' £A‘>
T Lo
" | = <
b) | e wnheqral dwerge




- ! q du. ﬁ
. ‘\M —
C ‘ ! dar

X
x) N
sw Je X(2n o .

e(lne) ) S F 3
\

’ : 3( 2nx)

\\m "—')3 \
- b-s“ 3()““

3(1:&))
- \\m ( *33

e
E

X se
X L ar ctan +
@ o -




2
. X
W o X Al Aﬂ\x‘\ ‘—hé}“
o t X o t
- L\ (’Q“a )
g0’
=00

‘ x -3 0
o ‘x.s':'a o
lye ax
\ ’—-’a = hﬁ\
e’y (x3) k73 =
o+
uz X*J (
= dx%
du e g :
—> X+
X e - D dwef‘qd‘




3
S° alx%)




10, Determine whether the [ollowing integrals converge
or diverge using the mmp’ulsﬂn l;hem‘em
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